N & 0l & AF S Z M A
12EE £ | 5l YW ELD ~ LD
SH: B2
B DAUNEY JUYY P
SHel: MYTA el 23 (Ere): & 2
SN - EH . S(3) - MRAY - BES O &t 04 3= o HRz2
SR 50,884,908 46,883,373 4,001,535
= 51,417 49,377 2,040
Jl 814,000 0 814,000
&2 1,105,859 0 1,105,859
= 76,789 662,954 A586,165
= 48,836,843 46,171,042 2,665,801
DAXES LYY P 1,197,038 1,156,998 40,040
2 9,540 7,500 2,040
= 5,760 5,760 0
2 1,181,738 1,143,738 38,000
KNYXR Seke 23 1,066,318 1,064,278 2,040
= 9,540 7,500 2,040
= 5,760 5,760 0
= 1,051,018 1,051,018 0
Hem)| 2ALHSH 4T 222 N (=) 9,540 7,500 2,040
= 9,540 7,500 2,040
201 B2 H| 3.180 1,140 2,040
2 3.180 1,140 2,040
03 A2 b 2,040 0 2,040
O DAMB Q120 S| MA YA K
2,040,000& * 14! 2,040 0 2,040
= 2,040 0 2,040
=& = 87,000 49,000 38,000
QIZtetd SEX& 87,000 49,000 38,000
307 212+01 ™ 59,500 21,500 38,000
02 212AB4BE 59,500 21,500 38,000
O U=ESh2fd3 N 39,500 21,500 18,000
HesH sUorzoi
Z 20,000,008 20,000 10,000 10,000
— ESHMAMEAAZ 4,000,000& 4,000 0 4,000
— S2==4 4,000,000& 4,000 0 4,000
O HXOIHAXALE X2 20,000,000& 20,000 0 20,000
ANl e & MEAAD| Mateta 6,198,070 5,580,914 617,156
Jl 814,000 0 814,000
= 34,000 622,865 A588,865
= 5,350,070 4,958,049 392,021
st WSk & gdsts A 2= 3,130,236 2,863,810 266,426
Il 814,000 0 814,000
= 25,000 622,865 A597,865
= 2,291,236 2,240,945 50,291
used o 636,080 616,080 20,000
201 24 30,000 10,000 20,000
01 AR 22l 30,000 10,000 20,000




SN B2
HE: N UH U MAAI| WX
o9l StD DSNY L BASS WA 75 (e
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 )= e B2
O QIMSH =2 ISR AL
20,000, 0002 20,000 0 20,000
MRS AYAL(DI2) 1,400,000 1,000,000 400,000
| 400,000 0 400,000
2 1,000,000 1,000,000 0
401 Al EHIL 2 OB 1,400,000 1,000,000 400,000
| 400,000 0 400,000
2 1,000,000 1,000,000 0
01 Al &bl 1,397,500 997,500 400,000
O FYURSUS AYAY
400,000,0002 * 14! 400,000 400,000
| 400,000 400,000
HAX 2het 2Y 100,000 0 100,000
405 Xt &HE St 100,000 0 100,000
01 LS EH S| 100,000 0 100,000
O FYUA 22 FII(HIB) 7
100,000,0002! * 14} 100,000 0 100,000
st R4Z4 X 528,156 1,195,730 667,574
= 0 597,865 597,865
2 528,156 597,865 269,709
308 XX £ S OI & 528,156 1,195,730 A667,574
= 0 597,865 A 597,865
2 528, 156 597,865 269,709
06 RS2 HE 2 XS 528,156 1,195,730 ~667,574
O ZEsty 234 X2
528,156,0002 * 14! 528,156 1,195,730 667,574
= 0 597,865 597,865
2 528,156 597,865 269,709
HEEGSHHSAAEY (DI2) 414,000 0 414,000
| 414,000 0 414,000
308 XX £ S 01 & 414,000 0 414,000
| 414,000 0 414,000
06 RS2 S 2 ES 414,000 0 414,000
O seYE USRASY A
14,000,0008 * 14! 414,000 0 414,000
| 414,000 0 414,000
ANG Yot HHEI| FH 1,547,334 1,505,604 41,730
228 YEHENHE F& 1,117,810 1,087,810 30,000
201 YEr2gY| 975,810 945,810 30,000
01 ALR eIt 975,810 945,810 30,000
O Ol4oAT WXOI A=A 20)
30,0002 *1,0000H 30,000 0 30,000
Y 2Y 36, 146 24,416 11,730




SN SR
T XSOl YN L MAAD| M
Sl A5 Yot MFEAI E4 EERED
SN - EH . S(3) - MRAY - BES 0f &k Pl HRE2
101 2124 bl 36. 146 24,416 1,730
VB EESETERS 36. 146 24,416 11,730
O RUAY 2% omy 36, 146 24,416 1,730
- Jl=3 38,2100 * 2% * 2602 19,870 17,141 2,729
- =849 38,2108 * 2% 522 3,974 3.714 260
— A2elag
4,433 * 2% « 40AI2} * 128 4,261 2,489 1,772
— oixpag 38,2102 * 2% + 152 1,147 1,072 75
— MOI3 38,2108 « 23 * 2602* 3/128 4,968 0 4,968
— YEFEIH
38,2108 * 2% = 212 « 60% * 2B 1,926 0 1,926
N SBESS A =Y 20,500 111,500 9,000
= 9,000 0 9,000
2 111,500 111,500 0
b2 SEXH(SH) 9,000 0 9,000
= 9,000 0 9,000
308 XA €M S 0| & 9,000 0 9,000
= 9,000 0 9,000
07 fHIZS SN BARE 9,000 0 9,000
O oHlZ ZHBHIS ZHIX &
9,000,000 * 14} 9,000 0 9,000
= 9,000 0 9,000
NEEIPEYE 1,400,000 1,100,000 300,000
NETIWEY: 1,400,000 1,100,000 300,000
306 212 1,400,000 1,100,000 300,000
01223 1,400,000 1,100,000 300,000
O (M) 322 ANWSEHss 5012
A 1,400,000,000% 1,400,000 1,100,000 300,000
AEMOtE =7 405,230 400,230 5,000
= 3,600 3,600 0
2 401,630 396,630 5,000
Xie el 381,230 376,230 5,000
= 3,600 3,600 0
2 377,630 372,630 5,000
NTE PHEH =7 5,000 0 5,000
306 £13 5,000 0 5,000
01 &012 5,000 0 5,000
O s2X% SN 53
5,000,0008 * 14 5,000 0 5,000
PRI 1,004,471 371,861 632,610
2 3,225 3,225 0
= 2,857 2,857 0
2 998,389 365.779 632,610




SN B2
HMH: 0w o Ay

P
Sl DIMOIY EX o (el &2
SH-EH . C(BH) - NRAY - BES O AF o8 [ =)e bRz
DIMOIE XX 22 1,004,471 371,861 632,610
2 3,225 3,225 0
= 2,857 2,857 0
2 998,389 365,779 632,610
DlEe 2 826,901 196,901 630,000
401 A& HIL 2 THY| 780,000 150,000 630,000
01 Al&H] 775,590 148,920 626,670
O 119 ZS2YE NUT2 HAST Y L
=200 (427m) A 695,500,002 695,590 148,920 546,670
O 119 AHMEH FSXAH ALK ML
80,000,002 * 14} 80,000 0 80,000
03 Al & = CHY| 4,410 1,080 3,330
O MYE2 HYLX MY L S2HA
2 700,000,000 %0.63% 4,410 1,080 3,330
olgagl 29 49,290 46,680 2,610
301 YEE A3 45,790 43,180 2,610
03 2/ 8 A IHKI R 2 bl 38,350 35,740 2,610
O g4l &2, ZL(ABHNS)ES+Y
36,0009 * 5058 * 1/2 « 33 28,350 25,740 2,610
ZONRME 2Y 2L 313,800 303,800 10,000
FORXHE SYNR 313,800 303,800 10,000
ZOITEI ME 2 X 313,800 303,800 10,000
301 YBrE A2 261,000 251,000 10,000
10 BAAIHI 2 &3 246,000 236,000 10,000
O ®= ZOIXX 2o HA SA3(AXE
) 10,000, 00024 10,000 0 10,000
25 oz st 1,764,484 1,469,252 295,230
2 38,652 38,652 0
= 30,572 27,872 2,700
2 1,695,260 1,402,728 292,532
#HEPS =X 1,090,957 817,153 273,804
= 22,812 22,812 0
= 1,890 1,890 0
2 1,066,255 792,451 273,804
Y HATH YL SN 2Y 240,173 213,318 26,855
207 & POH L bl 45,555 18,700 26,855
02 & ADHEH] 45,555 18,700 26,855
O MHUELDS S/MPL(PCR)
41,0002 * 655%2 26,855 0 26,855
FHHPALAY 29 779,956 543,242 236,714
201 YEr2 Y| 26,048 9,334 16,714
01 AR 22l 16,714 0 16,714




SN
X XH .
S Tt

ok

SN EB - S (3H) ERE-EE Arel 013 o 52
O E2ANAEE RF X = gtdlel
mpsl 835,700& = 204 16,714 0 16,714
207 Aol 257,578 37,578 220,000
02 ™ AHH Y| 257,578 37,578 220,000
O A4E ZEAAY BEZ2 HE - SH - IS
el T2 2 27,500,000& * 8 220,000 0 220,000
ANZT 8E FE3 ZISIIBAIAE RE(24]) 65,228 54,993 10,235
= 22,812 22,812 0
i 42,416 32,181 10,235
201 dEt2dd| 65,228 54,993 10,235
= 22,812 22,812 0
= 42,416 32,181 10,235
01 AR 2tel] 65,228 54,993 10,235
O ANZFHEEEAAE &Y wH Az
2 & 59,228,000& 59,228 48,993 10,235
= 21,312 21,312 0
= 37,916 27,681 10,235
NEEHB3 29 204,746 183,318 21,428
= 15,840 15,840 0
= 28,682 25,982 2,700
i 160,224 141,496 18,728
NeEEs =8 8435 (<Hl) 34,756 13,328 21,428
= 16,028 13,328 2,700
= 18,728 0 18,728
307 2I2toI 8,100 0 8,100
= 2,700 0 2,700
= 5,400 0 5,400
02 QItF A2 X 8,100 0 8,100
O E=2s0ts A5# 2 K& 8,100 0 8,100
— d&0ts 3,600,000 * 14 3,600 0 3,600
S 1,200 0 1,200
= 2,400 0 2,400
— SAXE0I0tS 4,500,000& * 14! 4,500 0 4,500
S 1,500 0 1,500
= 3,000 0 3,000
402 SI2tXH201 A 26,656 13,328 13,328
< 13,328 13,328 0
i 13,328 0 13,328
01 QItXt=E X 26,656 13,328 13,328
O SOHEXNS ZUHIGIIE T A=A
Z & 26,656,000 26,656 13,328 13,328
S 13,328 13,328 0
= 13,328 0 13,328
HRES(ERL) 4,402 0 4,402
28XE 4,402 0 4,402




SN SR

Hu: JRES(S2D)

SEENCE P EERED
SN EB -GS - MBAY - BES 0 & 24 p/E-T" HRE2
CRPE 4,402 0 4,402

802 Bt & 2| Ef 4,402 0 4,402
01 2DREIBEI 2,512 0 2,512
O N27 =2ZHl TH 222 2,460, 1002 2,461 0 2,461
O N2T ZEIBALEY 25 2|22
50,5902 51 0 51
02 Al - SHIBZES8ES 1,890 0 1,890
O SSUHAN(S~AZ2)2t0lMA 7Y
1,890, 0002 1,890 0 1,890
HYSYHY (B2 39,818,222 37,421,127 2,397,005
= 1,105,859 0 1,105,859
B 2 38,712,363 37,421,127 1,291,236
o122 et 39,435,981 37,048,886 2,387,095
= 1,105,859 0 1,105,859
2 38,330, 122 37,043,886 1,281,236
Z o401 24| 39,435,981 37,048,886 2,387,095
= 1,105,859 0 1,105,859
2 38,330, 122 37,043,886 1,281,236
101 9124 bl 32,687,673 30,332, 138 2,355,535
= 1,105,859 0 1,105,859
= 31,581,814 30,332,138 1,249,676
01 24 27,042,746 25,118,981 1,923,765
O =3 8,950,915 8,442,067 508,843
— =3(2519) 8,263, 179 7,792,677 470,502
24(DFZ 23M) 93,025,008 93,025 74,152 8,873
SEH(SDVS AZH) 76,825,008 76,825 66,479 0,346
- 42 4,151,7002 « 3% « 122 149,462 9,727 53,735
52 3,849,508« 112 « 128 508, 134 443,784 64,350
62 3,244,400 * 728 * 122 2,803, 162 2,543,391 259,771
72 2,626,2008 * 802 * 128 2,521,162 2,405,020 116,132
= 1,105,859 0 1,105,859
2 1,415,293 2,405,020 989,727
82 1,927,700 * 329 * 122 740,237 837.018 £96,781
92 1,558,500% * 62 * 128 112,212 120,431 £8,219
01562 3,171,908 * 1Y « 122 38,063 37,788 275
JIS72 2,881,402 * 18% * 128 622,383 232,520 389,854
01583 2,314,008 * 8% * 128 202,144 466,042 243,898
JIS92  1.742,5002 + 18% * 122 376,380 470,316 £93,936
- H02 687.736 649,390 38,346
F24+9 8,252,828,0002 * 1/12 687.736 649,390 38,346
OI-EPN 2,283,851 2,147,785 141,066
- =23 (62%) 2,114,430 1,982,570 131,860
52 3.663,0002 * 1% « 128 43,956 47,864 £3,908




SN

E2
M HH2AAL (52D
cHel: ol e gyl (9l ® )
A -3 -H2A(SH) - HEAMY - BES AF oK plpsgel: Hlns2t

63 3,209,2008 * 209 128 770,208 673,251 96,957
=) 2,763,0002 * 31% * 128 1,027,836 950, 132 77,704
=) 1,653,500 * 5% « 12 99,210 143,489 N44,279
=) 1,742,5008 = 1% * 12¢ 20,910 17,205 3,705
Jls63 3,277,800% * 1% * 12& 39,334 37,776 1,558
lls73 2,763,000 » 2% x 12& 66,312 33,219 33,093
=83 2,107,1002 » 1% * 12¢ 25,286 58,256 A32,970
— 4023 174,421 165,215 9,206
244 2,093,050,0002 * 1/12 174,421 165,215 9,206
O s2Ji=4dH 1,009,016 1,086,049 AT77,033
- 23(31¥) 931,399 995,923 164,524
X &2 4,481,8008 * 2% « 12& 107,564 108,574 A1,010

KIS A 2AL)
2,311,400 » 25% « 12& 693,420 762,941 169,521
63 3,404,5002 * 1% * 12¢ 40,854 39,772 1,082
=83 2,487,8002 » 3% * 12¢ 89,561 84,636 4,925
— 4023 77,617 9, 126 A12,509
¥2+g 931,397,000 * 1/12 77,617 9, 126 A12,509
O o3IAIR B 353,420 344,468 8,952
- 232(10¥) 326,224 315,945 10,279
53 3,849,5008 * 2 x 12& 92,388 84,459 7,929
63 3,322,0002 * 1% * 12¢ 39,864 38,110 1,754
73 2,763,0008 * 2% * 12¢ 66,312 60,552 5,760
s73 2,843,7002 * 3% * 12& 102,374 67,256 35,118
J1s83 2,107,1002 » 1Y * 12¢ 25,286 65,568 A40,282
— &03 27,196 28,523 A1,327
Y244 326,342,0008 * 1/12 27,196 28,523 A1,327
O At AIEA 617,802 593,284 24,518
- =23(18¢Y) 570,279 544,242 26,037
53 3,849,5202 * 1% » 12& 46,195 44,379 1,816
62 3,381,7002 * 4% » 12¢ 162,322 149,612 12,710
73 2,347,2002 » 3% x 12& 84,500 60,552 23,948
83 1,797,1002 » 2% * 12€ 43,131 71,745 A28,614
s72 2,916,002 * 2% * 12¢ 70,006 66,437 3,569
Jls82 2,509,3008 * 3% * 12¢ 93,575 87,383 6,192
J1s92 1,959,7002 = 3% * 12& 70,550 64,134 6,416
— A03 47,523 49,042 A1,519
Y244 570,272,000 = 1/12 47,523 49,042 A1,519
O SMAESENLAS A 389, 158 349,093 40,065
- 23(10%) 360,867 320,350 40,517
53 3,849,5002 * 1% = 12& 46,194 44,081 2,113
62 3,171,9002 » 3% * 12& 114,189 112,209 1,980




SN

sSFH

B #H2ITH(S2D)

el IE2 3] (etel: =3
SN EB -GS - MBAY - BES o p/E-T" HRE2

= 2,522,300& » 5% » 128 151,338 118,767 32,571
8= 2,314,000& » 1H = 123 27,768 23,915 3,853
— d0= 28,291 28,743 N452
d2+g 339,488,000& * 1/12 28,291 28,743 N452
(O =15i 5,558,751 5,526,879 31,872
— 23(165%) 5,133,539 5,070,596 62,943
52 3,849,500& » 118 = 128 508, 134 443,784 64,350
6= 3,244,400& » 49% = 128 1,907,708 1,720,529 187,179
= 2,347,200& » 50 = 128 1,408,320 1,484,580 AT6,260
8= 1,864,300& * 24% » 128 536,919 621,785 A 84,866
9= 1,492,300& * 14% » 128 250,707 292,475 AN41,768
s’= 2,916,900& » 4% » 128 140,012 99,656 40,356
Jls8= 2,526,600& * 12% » 12& 363,831 407,787 N43,956
Jls9= 1,492,300& » 1H = 123 17,908 0 17,908
— &0= 425,212 456,283 A31,071
d2+gY 5,102,537,000& * 1/12 425,212 456,283 A31,071
o =% 2,242,920 1,564,700 678,220
— AZ2t2| 22 1,279,233 597,824 681,409
52 11,0023 * 112 * 40Al2t ~ 128 58,091 31,458 26,633
6= 9,3833 » 72H x 40AI2t x 128 324,277 182,438 141,839
I= 8,476& = 80FH * 40Al2t » 123 325,479 196,296 129,183
8= 7,609 * 32FH * 40Al2t » 123 116,875 76,146 40,729
9= 6,878 » 6%~ 40AI2t » 128 19,809 13,766 6,043

Jls6=
8,383& * 1&8 » 40AI2+ » 128 4,024 2,683 1,341

s72
8,4763 » 18 = 40Al2t = 128 73,233 16,964 56,269

ls8=
77,6098 * 8F x 40Al12t » 128 298,019 34,810 263,209

s9=
6,8783 * 18F » 40Al2t » 122 59,426 43,263 16,163
— JIE==E 258,480 258,480 0
bH < Kt 40,0003 = 240 128 115,200 115,200 0
SPLINE 20,0004 * 5979 = 12& 143,280 143,280 0
— NUEEH B2+ 107,060 107,060 0
Setn(1=24X) 51,990% » 9 « 43| 1,872 1,872 0
FstW(22X) 51,1703 * 49 « 43 10,030 10,030 0

Dssw(1=X)
433,880 * 202 * 43| 34,711 34,711 0
NSstu(22Xl)

377,790 = 409 + 43 60,447 60,447 0
— 224 Jt=s 265,560 264,120 1,440
253 01 & 130,000& = 54FH » 123 84,240 82,680 1,560
20~25¢ 0|2 110,000& = 53H « 12& 69,960 59,400 10,560




SH: B2
B HISSAH(Z2D)
£rel: ol 2| CEERED
SA-BH - OA(B) - HRAY - BE2 O &t 04 3= o HRz2
15~20= 0] & 80,000& » 59 128 56,640 71,040 214,400
10~15&2 0l 60,0008 * 46H = 128 33,120 25,200 7,920
5~104@ 0O ¢et 50,000& * 36H = 128 21,600 25,800 A4,200
- TR 22 9,840 9,840 0
=43 50,000& = 10¥ = 12& 6,000 6,000 0
=3 40,0008 » 8H = 123 3,840 3,840 0
- He3RE =¥ 178,038 182,667 N4,629
53
3,849,500 * 2 * 4.1/100 * 128 3,788 14,557 210,769
63
3,244,400 * 52 * 4.1/100 * 128 83,005 70,542 12,463
73
2,626,200% * 56 * 4.1/100 = 12& 72,358 76,694 N4,336
01572
2,626,2009 * 8F * 4.1/100 » 128 10,337 6,810 3,527
01582
1,927,700 = 3% = 4.1/100 = 128 2,846 8,360 N5,514
— 2R 6,989 6,989 0
45 3,235,6008 * 29 = 9/100 » 12& 6,989 6,989 0
— Jl=gfse 31,800 31,800 0
52 50,0002 * 5% * 128 3,000 3,000 0
6~7= 30,000& * 62 = 128 22,320 22,320 0
8~9= 20,000& * 27"+ 12& 6,480 6,480 0
— J=gRsE M=z 17,400 17,400 0
DIDN; 30,000& * 27 = 128 9,720 9,720 0
AH DI AL 20,000&  32% = 128 7,680 7,680 0
- NEX BH L FHYLR4Y
40,000& » 10& = 12& 4,800 4,800 0
— QYR 30,000& * 24% » 128 8,640 8,640 0
- Bageay 4,920 4,920 0
390l &f 50,000& » 78 » 123 4,200 4,200 0
112014 301t
30,000& » 2& » 12& 720 720 0
— Zoig 120,000 * 10% * 128 14,400 14,400 0
— 2HIRA =5 50,0008 » 3F » 123 1,800 1,800 0
— NE=NYRLY
30,0002 * 112 « 128 3,960 3,960 0
— Hu&a =g 50,000,000 50,000 50,000 0
O E2dx 513,753 393,217 120,536
— Al2tel 224 257,238 155,435 101,803
52 11,0022 = 1H * 40Al12t » 12& 5,281 3,146 2,135
= 9,383 * 20 * 40Al2t » 123 90,077 48,293 41,784
73 8476 x 31 x 40A2 128 26,123 77,549 48,574
8= 7,6093 * 5& x 40A[2+ « 128 18,262 13,054 5,208




2N SL
M8 BYSYYL(BRD)
col: olzi2gy| CCRE!
SA-E . S(E) - MEAY - BES 0 & 24 pJE-T HIRE
9= 6,878 * 18 * 40Al2t ~ 128 3,302 1,967 1,335
Jls62
9,383& * 1 « 40A12+ « 128 4,504 2,683 1,821
s7=s
8,476& * 198 » 40A12+ » 128 4,069 2,424 1,645
Jls82
7,609 * 18 » 40A12+ » 128 3,653 4,352 A699
IE=< 43,200 43,200 0
bH <> Xt 40,000& = 48% « 128 23,040 23,040 0
PAIE 20,000& = 84Y « 128 20,160 20,160 0
ANEEH 2EXE 14,246 14,246 0
SstW(1=X) 51,990& » 3 = 43 624 624 0
S&tW(22X) 51,1708 » 28 « 43| 410 410 0
nssn(1=x)
433,880 * 5F = 43 8,678 8,678 0
NSstu(2=Rl)
377, 7903 * 398 * 43| 4,534 4,534 0
d2=g Itz 70,800 71,280 A480
25E 0| & 130,000& = 14H = 123 21,840 24,960 A3,120
20~25= 0 et 110,000& = 24H = 123 31,680 13,200 18,480
15~20& 0 8+ 80,000& = 13& * 128 12,480 26,880 A14,400
10~15& 0| B¢ 60,0003 5% » 123 3,600 5,040 A 1,440
5~104 0] et 50,000& * 2 » 12& 1,200 1,200 0
AESRE =€ 29,400 29,400 0
243 50,000& * 5% = 123 3,000 3,000 0
=3 40,000& * 55H = 128 26,400 26,400 0
HesRE =4 46,429 27,216 19,213
63
3,244,400 * 6F * 4.1/100 = 128 9,578 5,675 3,903
=
2,626,200& * 26%F = 4.1/100 » 123 33,595 18,216 15,379
Jls72
2,626,200% * 18 » 4.1/100 » 128 1,293 1,362 269
=g e+g 14,520 14,520 0
6~7= 30,000& * 37 » 128 13,320 13,320 0
8~9= 20,000& * 53 = 123 1,200 1,200 0
=g+ Jtet=a 2,040 2,040 0
LA 30,000& = 1€ » 123 360 360 0
AFH DAL 20,0008 = 7€ » 123 1,680 1,680 0
g2gE 82 =
50,000& = 199 « 128 11,400 11,400 0
NEX 2F L FHYL 29
40,0008 » 3 » 12& 1,440 1,440 0
QYR == 30,000& = 1€ » 123 360 360 0
SH2ZR =¢ 70,000 = 27H « 128 22,680 22,680 0

_‘]O_




SN B2
M HH2AAL (52D
el IE2 3] EP)
SN EHH . H(EH) - NEAY - BES =
sgJls4dH 236,640 179,689 56,951
ANZ2tel 2R+E 126,974 70,929 56,045
A2t
10,8393 * 2 » 40Al2t = 128 10,406 6,198 4,208
K& At 101,107 55,521 45,586
% 215 20(4
8,848 * 6 x 40AI2+ « 128 25,483 14,042 11,441
¥ 202 =0l6t
8,202 * 1928 » 40Al2t = 12& 75,624 41,479 34,145
6= 9,383& * 1 « 40A12+ « 128 4,504 2,683 1,821
Jls8=
7,6093 * 3 x 40AI2+ « 128 10,957 6,527 4,430
IE=E 22,800 22,800 0
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38,2108 » 3% x 25 2,866 2,679 187
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A S22
M WHR2IAH(E2D)
CHel: ol d | (&te @2
2N -3 - c2(3H) - NEME - HES 0] Ao J)[| el Hl =2
— A2 (s H %2l AL
43,4802 * 2% » 2602 * 10/100 2,261 2,114 147
— B OlsdE HA22l)
38,2102 » 2% * 2602 * 10/100 1,987 2,016 A29
— HESIH| 5,081 0 5,081
S| H =2l A
212 » 43,4802 * 60/100 * 2H * 23] 2,192 0 2,192
HA2e
212 = 38,2102 * 60/100 * 3H = 23] 2,889 0 2,889
O ABISE A A 94,130 71,788 22,342
— JI2349) 42,299 40,325 1,974
MBS EZHRER
38,2102 * 29 » 2602 19,870 20,156 286
AL 2ES 44,7902 x 1H * 2602 11,646 10,884 762
At BHP) 41,4702 » 198 » 260 10,783 9,285 1,498
- Jlgxg 40,992,000 * 4/12 13,664 10,082 3,582
- =53¢ 16,527 8,066 8,461
ABIAEE H2EX
38,2108 » 2% x 52 3,974 0 3,974
ARG P 44,7909 + 1Y x 52 2,330 0 2,330
N EN e o) 41,4702 * 1" » 52 2,157 0 2,157
— AlZte 284% 9,070 5,405 3,665
AdtaT HRBEX
4,438 x 29 x 40AI2F x 128 4,261 2,701 1,560
ALT 2AEL
5,202 x 198 x 40A12F » 122 2,497 1,459 1,038
At a2
4,8162 * 19 » 40AI2+ » 128 2,312 1,245 1,067
— UX |28 4,068 3,878 190
MG HREX
38,2102 * 2% x 25 1,911 1,938 Nl
ARE 2L 44,7909 « 1Y * 25 1,120 1,047 73
AT B 41,4702 » 19 » 25 1,037 893 144
— JAF2 42,3159 x 43 x 2602 * 10/100 4,401 4,032 369
— HESI| 4,101 0 4,101
ABtAEE HREX
212 38,2102 = 60/100 » 2& « 23 1,926 0 1,926
AT B
212 % 44,7902 * 60/100 *» 1 * 23] 1,129 0 1,129
Abds G BHP)
212 % 41,4702 * 60/100 » 1 * 23] 1,046 0 1,046
OE=1! 2,156,266 2,168,176 A 11,910
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SN B2
M WHR2IAH(E2D)
ool ol
SN B S2(BH) - HRAY - BES R
— Jl2=(58Y) 743,467 759,596
201312 41%
1,195,920& * 418 » 123 588,393 588,393
+E 284 S 3Y
39,3902 * 38 » 260 30,725 32,651
+5 AEY S 5Y
44,7903 » 3F » 260 34,937 47,853
DSEMMEER S 9Y
38,2108 * 9% = 2602 89,412 90,699
— ZHMUS(EZ0ISRY) 185,649 187,262
- 44 98,800& » 1€ » 123 1,186 1,186 0
5 123,500 = 18 * 128 1,482 1,482 0
74 172,9008 = 48 « 128 8,300 8,300 0
8d 197,600 = 29 « 128 4,743 4,743 0
o 222,300 * 1& = 123 2,668 2,668 0
10& 247,000& * 8% * 12& 23,712 23,712 0
nd 271,700 + 1€ « 128 3,261 3,261 0
124 296,400% * 48 « 128 14,228 14,228 0
13 321,100 = 18 « 128 3,854 3,854 0
154 370,500 = 2% = 128 8,892 8,892 0
184 444,600 ~ 18 = 123 5,336 5,336 0
204 494,000 * 22 * 123 11,856 11,856 0
214 518,700& = 2% * 12 12,449 12,449 0
224 543,400% * 6 * 128 39,125 39,125 0
234 568,100% * 3H » 128 20,452 20,452 0
294 716,300 * 1& = 122 8,596 8,596 0
FUSSHMEX S 9F
38,210 = 99 = 2602 * 10/100 8,942 9,070
deags 5 39
39,3903 » 3Y = 2602 * 10/100 3,073 3,266
gy s 39
44,7903 = 3H * 2602 * 10/100 3,494 4,786
— 0= 335,771 335,771
Il (17d) 15,613,000& * 4/12 5,205 5,205
2= (&3015d)
1,465,920& * 419 = 50/100 * 4 120,206 120,206
22 (830/32d)
1,465,920& = 4198 = 50/100 * 23] 60, 103 60,103
ML (2Z0132)
1,465,920 * 418 = 50/100 » 53 150,257 150,257 0
— d%=g 117,360 117,360 0
HESL (0GR R) 38,640 38,640 0
¥ H = Xt 40,000& = 31H » 128 14,880 14,880 0
K BAIS 30,0008 * 66E * 12 23,760 23,760 0
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A S22
HM: HHS2IFH(ERY)
CHel: ol d | (&te @2
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
ELADLG(SADIFFRHY)
90,0002 * 419 « 12& 44,280 44,280 0
ALY (SADGFRH)
70,0008 * 41H * 128 34,440 34,440 0
— S2|SMH (23013 H) 320,304 320,304 0
X o Z Al 160,000 * 41% » 12& 78,720 78,720 0
JHH £ =] 110,000 * 41 » 12& 54,120 54,120 0
DWEBXEH 140,000 * 41 » 12 68,880 68,880 0
SEHI(ZAO)
70,0002 = 419 * 12& 34,440 34,440 0
= ESE=]Ta]
1,465,920 * 413 = 70/100 * 23| 84,144 84,144 0
— X224+ 231,334 220,726 10,608
D32 (41%)
13,4002 » 41" * 302 * 12€ 197,784 197,784 0
AT HELR E 3H
5,202 * 3" x 40AI2F x 122 7,491 6,413 1,078
N4 pEs 3Y
4,575 * 3% » 40AI2F » 12& 6,588 4,376 2,212
FOSEFAER E 9H
45078 « 9™  40AI2+ » 128 19,471 12,153 7,318
- F54Y 136,698 139,924 N3,226
DGR (419)
53,7002 419 x 4 « 1228 105,682 105,682 0
AL HER E 3Y
44,790 * 3H * 52 6,988 9,571 A2,583
N4 pEs 3Y
39,3908 » 3% x 52 6,145 6,531 A 386
FOUSSHMER S 9Y
38,2102 » 9% » 52 17,883 18,140 N257
— UX |28t 69,956 71,506 A1,550
DGR (419)
53,7002 * 4198 * 25 55,043 55,043 0
ALT HES S 3Y
44 7902 * 3 » 25 3,360 4,602 N1,242
AL BES 3Y
39,3908 » 3% x 25 2,955 3,140 A185
FOISEFMER E 99
38,2102 » 9% » 25 8,598 8,721 A123
— X8 Bx4g 15,727 15,727 0
=St (28X) 51,1702 » 3% * 43 615 615 0
DESN(22X)
377,790 * 10 * 43 15,112 15,112 0
O B 346,000 336,000 10,000
— SJ|AH%=2=2 X b
50,0002 = 509 * 2 « 53| 25,000 15,000 10,000
— RIHA22X S|
7,000 * 30¥ * 50 10,500 10,500 0

_23_




2N SR
M HHSAAL(ZLD)
cHol: ozl 2oyl EEREED
SN -EHH . (B) - MPAY - BE2 0 Ak o4 7|5 o HRE2
S EEE T
3,073,413,0008 * 4.5/100 138,304 138,304 0
— RINUBRR ALLHILYS
3,073,413,000& = 2.64/100 81,139 81,139 0
— PIHADZR 224 R
500,000& = 10 5,000 5,000 0
— SIHAREN DELHE
3,073,413,000& = 1.3/100 39,955 39,955 0
~ RIMUIRT AMEER
3,073,413,0008 * 1.5/100 46,102 46,102 0
04 JIZtNI22XNSE+ 86,058 86,058 0
O JIRH22X 2oz
5,386,009 * 53% * 4.5/100 36,696 36,696 0
O JAHIER ALLELLYS
15,386,000 * 53% = 2.64/100 21,529 21,529 0
O JIAH2E2X oY)
50,000& » 10 » 2& * 53] 5,000 5,000 0
O JIAH22 N DREHE
15,386,000& » 53 * 1.3/100 10,601 10,601 0
O JIAHZZT A EE2
5,386,0009! * 53% * 1.5/100 2,232 2,232 0
204 AR HH| 1,001,820 970,260 31,560
02 M=2x| 1,001,820 970,260 31,560
O =% g2l 477,060 459,720 17,340
- = 500,000& * 18 = 128 6,000 6,000 0
- Bz 450,000& * 18 ~ 128 5,400 5,400 0
— 43 400,0008 * 2% * 128 9,600 9,600 0
— 55 250,000& = 11 * 128 33,000 30,000 3,000
— 6= 155,000& * 728 « 128 133,920 124,620 9,300
— 7= 140,000& = 80Y ~ 128 134,400 127,680 6,720
— 89 105,000& = 38H = 123 47,880 65,520 A17,640
— Jls6=s 155,000 = 1 * 128 1,860 1,860 0
- Jls72 14,0002 * 188 * 122 30,240 1,760 18,480
— JIs8-9=2 105,000& = 36% » 123 45,360 47,880 22,520
— HRZIE 105,000& = 18H = 123 22,680 22,680 0
— A 140,000& = 49 « 128 6,720 6,720 0
O BadA A2 x| 113,040 109,740 3,300
- 52 250,0008 * 1% * 128 3,000 3,000 0
~ 62 55,0008 * 20 * 122 37,200 33,480 3,720
- 7= 140,000& = 318 » 123 52,080 55,440 A3,360
— 89 105,000& = 6 * 128 7,560 5,040 2,520
— Jls6=s 155,000& = 49 * 128 7,440 7,440 0
- Jls7=s 140,000& = 29 * 128 3,360 1,680 1,680
— 15803 105,008 * 1 « 122 1,260 2,520 A1,260
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SN B2
H: HHSYAH(SLD)
el o2yl (el &2
SH-EH . C(BH) - NRAY - BES Off &F oA [ =)e bRz

S EEEEEEET] 59,940 58,080 1,860

— XSHUSHY) 400,008 * 1% = 128 4,800 4,800 0

— XSH(534Y) 250,008 * 1% * 128 3,000 3,000 0

— XISAHSRA) 15,0008 * 258 * 128 46,500 44,640 1,860

- 62 55,0008 * 1% « 122 1,860 1,860 0

— 015893 105,000 * 3% + 122 3,780 3,780 0

O ClsARD HBBEY 17,520 17,940 £420

— 52 250,0002! * 2% * 128 6,000 6,000 0

— 62 55,0009 * 1% = 122 1,860 1,860 0

- 72 140,000 * 2 122 3,360 3,360 0

- JIs72 140,000 * 3% + 122 5,040 1,680 3,360

~ JIs82 05,0008 * 1% * 122 1,260 5,040 £3,780

O AstaTAL 33,960 30,840 3,120

— 52 250,000 * 1 * 128 3,000 3,000 0

— 62 55,0002 * 4% « 122 7,440 5,580 1,860

- 72 140,000 * 3% « 122 5,040 5,040 0

- 82 105,00020 * 2% * 122 2,520 2,520 0

- JIs72 140,009 * 2% * 122 3,360 3,360 0

— 715893 105,00080 * 6% * 122 7,560 6,300 1,260

- ZAPE 105,008 * 4% * 122 5,040 5,040 0

O sMFEHLALA 16, 140 15,480 660

- 53 250,0008 * 1% * 128 3,000 3,000 0

- 62 55,0008 * 3% + 122 5,580 7,440 A1,860

~ 72 105,000 * 58 + 122 6,300 3,780 2,520

O g% ng=2EY 284, 160 278,460 5,700

— 53 250,000 * 11Z * 122 33,000 30,000 3,000

- 62 55,0002 = 49% « 122 91, 140 89,280 1,860

- 73 140,0002 = 503 * 122 84,000 55,440 28,560

— 892 105,002 = 38% + 122 47,880 69,300 ~21,420

— Js72 1400008 * 4% + 122 6,720 1,680 5,040

— 715893 05,0002 * 13% * 122 16,380 27,720 A11,340

- FPE 105,000 + 4% « 122 5,040 5,040 0

382,241 372,241 10,000

=AY/ EY Y 97,585 87,585 10,000

405 X-3 S| 38,000 28,000 10,000

01 MU SBHSH) 38,000 28,000 10,000
O BALS OISAXISIAD| 2

10,000,002 * 141 10,000 0 10,000
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